Bubble:

Average Currents During Runs

David Neto
Dept. of Physics

University of lllinois - Chicago



Overview

* Using EPICS data uploaded to wiki by Riad to compute average current for
principle data runs (50-140 minus cosmics runs)

* During bubble event, beam current drops significantly as a result of shutter.
Used this to try and better correlate the time stamp difference with Bubble PC.

* Just computed simple averages, removing readings when the shutter was

closed.



Quick Example: Position Test
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* Made a PDF with all the averages in a slightly ugly format.

* Merge with other run summary?

* More analysis? Graphical?
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1.01384E-01 -9.01592E-01 1.27483E-02
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